(BIHE2)
ARISHLE HIE) N XA I 1T D Hdak i B 1 age 2 4 Bh 4 SE iR Fh
( TEIRHE RIS ) Higs

1 fiiBh &2 mEER 4,816,267
2 EheFELNNEEIEME—E (EA7: M)
b — ¥ - * — v | SR
1 [P ARDTEFE 35 599,423 599,423 599,423
| 2 |eamacromn 0 0 0
28 [EHE - PSS HUmAMB 2 DRG K# = 120,000 120,000 90,000
3BT 51,750 51,750 39,716
. 4 T3 FTA R A= AT DL EHRAE AF ] 0 0 0
| L350 s |rEsormnsmanc. 0 0 0
fg 6 |[HEnBELA 0 0 0
= 7 T IFARE A /N P R B A e~ D ] R i i 289,294 289,294 216,970
iE 8 |l & B~ AIRE) (KWK B2 R A 240,500 240,500 180,375
2; 9 |EhE R FY -t ANEE (PR AE) 106,168 106,168 91,671
H| AR | 10 [Sidb 11,147 11,147 8,360
K 11 V&N EHE 0 0 0
ga 12 [ Hlsks it se i T 225000 225000 | 168750
A | e 13 [WDEWEHE - |k (e 53,518 53,518 40,138
i 14 [fEEED HDHE W 0 0 0
15 | W 7 0[] B B R v = 2 321,333 321,333 240,999
BREE | 16 [HukSE b ARiE B 0 0 0
17 [{EEALE VDS [ 5 E) | 17,167 17,167 12,875
Ak | 18 | HEEE)Z = 68,000 68,000 51,000
AR=I | 19 |[ZV— T VR 0 0 0
20 [(EBOHRFEIE 7 =25 0 0 0
21 [P RS b HOE R 0 0 0
22 | &)X AR FE HEE 5 40,360 40,360 30,270
2ol 23 Zi&%{%?% 65,252 65,252 48,939
24 | NHERRTH S 0 0 0
25 [V - TRV EE KT B E20 0 0 0
26 |VE R itk E o0 0 0 0
27 |F— LA U= 72,000 72,000 54,000
& FF 2,280,912 2,280,912 | 1,873,486
(1) RAN=T R~ F o777 R EEE S (1)
(2) IFEV BB &EET 1,873, 486 1
2 EE BB &
i B R R AR 427,075 AL HEBh4kE 427,075




